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(afy @1y Sud 5e9) feuoft Fifse ofR o SugE Y@TE @i S Al §
Fe wf g @ ST AR oMY I IU A NETER T RA ™ gt 91 wgfc & = Fu (dfes & 5w 3
9=, UF a9 A1 A 30 =T F uRERE i ST OX TheH Tt @Rt Eie i s T 2)
T U 2 3% B B 8x2=16  Table (i)
; (i) What do you mean by 'Economic of Firm'? 3 . 2 7
¢ '} STTH ,ﬁmﬂ‘ 2 No. of Units | - ; Average Marginal
genm s 2 ¥ of variable AQMQNTMMW_ Physical Physical
(ii) What is derived Demand? Explain. factor P Production | Production
A1 A S KL : ___ﬁ_”:&ﬂ«.ﬁﬂ F e e |gw AifwF ST %E&@.&
(ili) Define Income Demand. : . :
: _ L NVF (TPP) (APP) (MPP)
s i A R . i ot
(iv) Explain the 'Marginal Principle/Concept. m M
G Ry /TaETen B FHEEU . M _._mm
(v) Explain any two important characteristics of 5 14
6 15
oligopoly? 7 15
. 8 14
MBI H B 3 Ae@yYl QAT AW 9 12

(vi) What do you understand by Economic costs?

s APl § STMIH FT ST9F B
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Explain the relatianship betwen Average Total cost and 9. "Profits are caused by innovation and disappear by

marginal cost with suitable diagram. Imitation". Elncidate this statement.
S B AT U1 T A $ A g S SugE T FA-AH B HT I A § SR SFFHTT B HT
@i & g § TR Ry 2 21’ 39 %ue ) ke it
How is price and output determined under monopoly Section-C
in short run? (Long Answer Questions)
THBR & S SeEa § B R Sard @ gus-§
Frafror 39 2 27 _ . (&0 wert e
What are characteristics of a good demand forecasting Note: Answer any two questions. You have to delimit your
method? Explain. answer maximum upto 500 words. Each question
T ST Qg Al & 9 @ fadwan & 22 awsme carries 16 marks.

Examine the applicability of Keynesian theory of 1 (] 2%x16=32
imployment is devloping countries. - e R & aet B o SR o e SR 3 i
P B TR s B e st ¥ sggertar & 500 sr=f F oftif &e &1 9@% 999 16 i @ B
 qler v . 2%16=32
Explain the major diffeculties in measurement of 10.  Explain the short turn costs by giving illustration and

National Income. diagrams.
TS ST B A9 B J&d FHegdl & W Hiew ST T I I T @M T H Ty

1. Examine critically the keynesian theory of trade cycle.

B T AR T R F AEAHS I ey
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